A | B | C | D P
: PAYROLL ¢
3 | 1 - Employee 2 - Contractor 3 - Trainee
4 $15.50 $20.00 $10.75
6 m—
7 Albert Einstein 2 $40.00
8 Isaac Newton 3 23 $247.25
9 Niels Bohr 1 33 $511.50
10 Galileo Galilei 4 33 ERROR
11 Richard Feynman 3 22 $236.50
12 Marie Curie 2 17 $340.00
13 James Maxwell 1 27 $418.50
14 Werner Heisenberg 1 10 $155.00
15 Ernest Rutherford 3 5 $53.75
16 Stephen Hawking 7 9 ERROR
17 Michael Faraday 1 $217.00

e .

=IF(B7=1, C7*Employee, IF(B7=2, C7*Contractor, IF(B7=3, C7*Trainee, "ERROR") ) )
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